
Weight Bench / Shoulder
Chair(100868)



 Washer:(φ10)

8X
   Lock Nut:
     (M10)

   Hex Bolt:(M10*70)

4X

4X

 Washer:(φ8)

8X

   Hex Bolt:
    (M8*20)

8X



Maximum load 250KG

760mm

1
0
9
0m
m

1040mm

load 250KG

load 280KG



1

M10*70

φ10

M10

φ10

M10*70

φ10

M10

φ10

   Lock Nut(M10)-2PCSWasher(φ10)-4PCS

   Hex Bolt(M10*70)-2PCS



2

M10*70φ10

M10 φ10

M10*70φ10

M10 φ10

   Lock Nut(M10)-2PCSWasher(φ10)-4PCS

   Hex Bolt(M10*70)-2PCS



3



4

M8*20

φ8

M8*20

φ8

M8*20

φ8

M8*20

φ8

M8*20φ8

M8*20φ8

M8*20φ8

M8*20φ8

  Washer(φ8)
    -8PCS

    Hex Bolt(M8*20)
        -8PCS


